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Pour effectuer des calculs, on dispose des outils suivants :

[ln (x)] '= 1
x

∫ f ' ( x)
f ( x )

dx=ln| f ( x)|+C

attention à la 
valeur absolue

Outils

Exemples

Ln/Exp : les outils

[exp(x )]'=exp ( x)  ou [e x ] '=ex

∫ exp( x )dx=exp(x)

[exp( f (x))]'=exp ( f ( x))⋅ f ' (x )
                                     ou [e f (x ) ] '=e f (x )⋅f ' (x)

∫ exp( f ( x))⋅ f ' (x )dx=exp( f ( x))+C

f ( x)= 1
x
⇔ F ( x)=ln|x|

∫ 1
x
dx=ln|x|+c

[ln ( f ( x))] '=
f ' ( x)
f ( x)

g (x)=
f ' ( x )
f (x)

⇔G ( x)=ln|f ( x)|+C

∫ ex dx=ex ∫ e f (x )⋅f ' ( x)dx=e f (x )+C

f ( x)=e x⇔ F ( x )=e x       g ( x)=e f ( x )⋅ f ' ( x)⇔G (x)=e x+C       

[ ln (x2+2)]'=
( x2+2) '
x2+2

= 2 x
x2+2

[esin (x3)]  '

=[exp (sin( x3))] '=exp(sin (x3))⋅[sin (x3)]  '
=exp (sin(x3))⋅cos( x3)⋅( x3) '

             =exp (sin( x3))⋅cos(x3)⋅3 x2=ecos(x 3)⋅sin (x3)⋅3 x2

∫ 2cos (x)
sin (x)+2

dx=2∫ cos(x )
sin (x )+2

dx=2∫ (sin(x )+2) '
sin (x)+2

dx=2⋅ln|sin (x)+2|+C

∫
0

√3

3 x e x
2

dx=3
2
⋅∫

0

√3

e x
2

⋅2 x dx= 3
2
⋅∫

0

√3

exp( x2)⋅2 x dx= 3
2
⋅exp (x2)|√3

0

                 = 3
2
⋅e x

2|√3
0

= 3
2
⋅(e(√3)

2

−e(02))=3
2
⋅(e3−1)
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